- VTL V-
L2
L1
T3 5 —
; | 1] [ 1] ﬁ .
g 4 N AT 4&* 2
Q = 1/ \\} |ZaN = Q
| v
VTL-155 VTL-405 | | | |
I M1 ——— T4 T6 — VI2
L L3 S —=i
/ ( N) /
0.2MPa | 0.4MPa | 0.6MPa| 0.2MPa | 0.4MPa | 0.6MPa | 0.2MPa | 0.4AMPa| 0.6MPa
VTL-155 1,820 2,380 2,700 40 72 96 18 40 85
VTL-165 1,900 2,450 2,700 43 76 96 17 37 70
VTL-255 | 1585 1,670 2,200 82 214 398 56 109 180
VTL-405 1,400 1,700 2,000 206 343 657 80 240 390
VTL-555 1,600 1,970 2,500 451 961 1,305 140 419 717
VTL-855 | 1,800 | 2,280 | 2,650 706 1137 | 1,530 | 301 635 900
VTL-1I05| 2,130 2,625 3,000 1,550 2,619 2,737 345 740 920
0.1MPa = 1Bar  1kgf/ IN = 0.1kgf
5 150 VTL-155 0 100
Max.80dBA 0.6MPa,
mm
LIL1|L2|L3]S|(D|D1|(T1|T2|T3|[T4]|T5|T6|M1|M2 kg
VTL-155 (114 |56 | 98 | 9 |34 |50 | 16 |m10|mio|ci/8] — [Gire] — | 12|24 | 13 | 052
VTL-165 |111 [565 | 955 35 |49 [165 | M10| M10|G1/8] — |G1/8] — | 10|24 [ 14 | 149
VTL-255 |140 | 75 |1225| 9 | 45 [ 64 | 255 | M16| M16|G1/4| — |G1/4] — | 13|20 | 22 | 3.19
VTL-405 |140 [725|1225|12 | 45 | 84 | 405 | M16| M16|G1/4] — |G3s8] — | 15|32 | 32 | 547
VTL-555 [125 | 60 | 108 |17 |37.7 115 | 555 | M20 | m20[G3r/8] — [G3ss 33 [37 |46 | 782
VTL-855 |122 | — | 121 |20 |34.7|160 | 855 | M20| M20|G3/8] — |G3rs8[Gars] — | — | — | 16.91
VTL-1105[122 | — | 122 |22 |32.7|200 |1105 | M20 | M20 [G1/2|G3s8|G1/2|G1/2| — | — | — | 25.83
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